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Finclude<iostream>
#include<string>

using namespace std,

class Emploveef
private!

int ids

string name;

public:

Emplovee(int , string);

~Emp lovee() ;

virtual int CalculatePay() const;
virtual void Print() const;

b

Employee: (Emplovee(int i, string n) ¢ id(i),.name(n){

émployeeii”Employee(}{

ioid Emplovee: (Print() const{]

cout << "[di" << id << " Name @ " << pame << " 20 | " << CalculatePay() << endl;
ﬁnt Emplovee: : CalculatePay () const

{return 0;

}
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class SalariedEmp :public Employee{
private:

int salary;
publ ic:

SalariedEmp(int i , string n, int <)

}

int CalculatePay() const{
return salary:

salary(s),Eaplovee(i,n){

}
1 class Hour |vEmp : public Emplovee{
J private:
int hours;
int Pavperhours,
publ ic:
HourlvEmp(int i . string n. int h. int p) :
}

}
¥

int CalculatePay() const{
return hours = Payperhours ;

hours(h), Payperhours(p),

Enployeeli,n){
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int main(){
Emp | oveex pl[2] ;

p[1]

_p[i]—}PrintfH:
J.

for (int i =10 ;
delete plil;

L
J

return 0

p[0] = new SalariedEmp(l, "= =", 100000
new Hour |vEmp( 2, "ErEHE", 30, 5000) ;

for (int i =03 0 <2 i #++){

i <2 1 ++)]

f’

Id:1 Name
Id:2 Name

H =3 ¢
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#include<iostream>
#include<string>

using namespace std,

class Person
{
private:

int id.
string name;
publ ic:
Person () {

I

Person(int i. stringa n) : id(i).name(n) {
cout << "Person Class // " << d = "<< | <<" name =

I

b
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private:

int salarv,
publ ic:

Emp lovee () {

}

I
I

class Student
brivate:
string major;

publ ic:
Student () {
I

I
i

class Emplovee :

Emp lovee(int id, string name,

virtual public Person{

int sa): salary(sa) ,Person(id,name) {

:virtual public Person{

Student(int id, string name, string ma): major{ma) ,Person{id,name) {
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public Student{

class StudentWorker publ ic Emplovee

public :

StudentWorker(int id, string name, int salary, string major)
' Student (id,name,major),Emplovee(id, name,salary) ,

Person(id,name) {

}
}:
int main(1{
StudentWorker sw(1,"S2& & ", 1000000, "£&F2")
} r = | |
By CWWindows¥system32Wcmd . exe = = | S
Per;qn Class // 1id -
H=5t43 otF F|Lt
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#include <iostream=

using namespace std,

int mainQ)

{
int a, b
int div,

try

{
cout << "Z==AF L

cin > a,

1

1R

cout << "=XA}F &
cin ** b

if (b == 0)
{

throw 0

<< div << end| .

catchCint 1)

{
if (i == 0)
cout << "02 2 Lis2{d &
cout << "Of|gEM - " <<
}
catch(char *s
{
cout << "O2EE - " << g
}
catch(...’ 2= ols .
{
cout << "0 2/EHE" << endl;
}
cout << 7 ————- Prog E

LICH" << endl;

<< end]| ;

<< endl ;

—————" << end|;

BN CwWindows¥system32¥cmd.exe

Program End
=512 0 07
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